




182 ÷ 14 × √361 + (9)2 = ?

1.423
2.312
3.228
4.350
5.328



25 ÷ 5 × 15 (10 – 5) ÷ 25 + 75 =?

1.4 3/4
2.90
3.1/900
4.125
5.NOT



(3/7) × 343 - 25% of 160 + 62 = ? - 1

1.104
2.114
3.124
4.134
5.144



79% of 8000 - 54% of 8000 = ?

1.2000
2.2500
3.1500
4.4000
5.NOT



1637 + 1832 = 452 + ?2

1.32
2.38
3.42
4.48
5.NOT



? - {108/(9 × 2) } × √784 = 895 - √1369 × 22 

1.249
2.250
3.254
4.255
5.NOT



?%  of  (56 ÷ 7) =  36 - 20

1.180
2.150
3.175
4.200
5.96



Direction: Read the following Caselet DI
carefully and answer the following
questions.
In a shop, the shopkeeper sells 4 different
brands of bulb and tube lights that is Syska,
Philips, Bajaj and Havells. Total number of
tube lights in shop is 500 and is 100% more
than the number of bulbs in the shop.
Number of tube lights of Havells is 150% of
the bulbs of Syska which is equal to the
bulbs of Bajaj available in the shop which is
80 in number. Number of bulbs of Philips is
half of the number of bulbs of Syska.
Number of tube lights of Philips is 40 more
than the number of tube lights of Bajaj and
number of tube lights of Syska is 20 less than
the number of tube lights of Bajaj.

निरे्दश: निम्िनिखित केसिेट डीआई का
ध्यािपूर्वक अध्ययि कीखिये और
निम्िनिखित प्रश्नों के उत्तर र्दीखिये।
एक र्दकुाि में, र्दकुािर्दार बल्ब और ट्यूब
िाइट के 4 अिग-अिग ब्ाांड बेचता है, िो
कक नसस्का, किनिप्स, बिाि और हैरे्ल्स
हैं। र्दकुाि में ट्यूबिाइट की कुि सांख्या
500 है और यह र्दकुाि में बल्ब की सांख्या
से 100% अनिक है। हैरे्ल्स की ट्यूब
िाइटों की सांख्या नसस्का के बल्बों का
150% है िो कक र्दकुाि में उपिब्ि बिाि
के बल्बों के बराबर है िो कक सांख्या में 80
हैं। किनिप्स के बल्बों की सांख्या नसस्का के
बल्बों की सांख्या से आिी है। किनिप्स की
ट्यूबिाइट की सांख्या बिाि की ट्यूबिाइट
की सांख्या से 40 अनिक है और नसस्का
की ट्यूबिाइट की सांख्या बिाि की
ट्यूबिाइट की सांख्या से 20 कम है।



Direction: Read the following Caselet DI
carefully and answer the following
questions.
In a shop, the shopkeeper sells 4 different
brands of bulb and tube lights that is Syska,
Philips, Bajaj and Havells. Total number of
tube lights in shop is 500 and is 100% more
than the number of bulbs in the shop.
Number of tube lights of Havells is 150% of
the bulbs of Syska which is equal to the
bulbs of Bajaj available in the shop which is
80 in number. Number of bulbs of Philips is
half of the number of bulbs of Syska.
Number of tube lights of Philips is 40 more
than the number of tube lights of Bajaj and
number of tube lights of Syska is 20 less
than the number of tube lights of Bajaj.



Find the difference between average of bulbs of Syska and Philips together to the average 

of tube lights of Bajaj and Havells?

सिस्का और सिसिप्ि के बल्बों के औित और बजाज और हैवेल्ि के ट्यूब िाइट के औित के बीच का 

अंतर ज्ञात कीसजए?

1.60
2.50
3.80
4.70
5.55

Bulbs Tube lights

Syska 80 100

Philips 40 160

Bajaj 80 120

Havells 50 120



Find the ratio between total number of Havells items in the shop to the total number of 

Philips items in the shop?

दुकान में हैवेल्ि वस्तुओ ंकी कुि िंख्या और दुकान में सिसिप्ि वस्तुओ ंकी कुि िंख्या के बीच का 

अनुपात ज्ञात कीसजए?

1.13 : 17
2.17 : 20
3.20 : 19
4.20 : 17
5.13 : 19

Bulbs Tube lights

Syska 80 100

Philips 40 160

Bajaj 80 120

Havells 50 120



The number of Bulbs of Philips is what percent of number of tube light of Bajaj?

सिसिप्ि के बल्बों की िंख्या बजाज की ट्यूबिाइट की िंख्या का सकतना प्रसतशत है?

1.66.67%
2.12.5%
3.56%
4.45%
5.33.33%

Bulbs Tube lights

Syska 80 100

Philips 40 160

Bajaj 80 120

Havells 50 120



If the number of bulb of bajaj is increased by 80% then, what will be the increased value 

of bulb in the shop?

यसद बजाज के बल्ब की िंख्या में 80% की वसृि होती है, तो दुकान में बल्ब का बा ा ह म मूल्य याया होगा?

1.314
2.320
3.304
4.300
5.294

Bulbs Tube lights

Syska 80 100

Philips 40 160

Bajaj 80 120

Havells 50 120



Number of Tube light of Bajaj in shop is how much percent more than the bulbs of 

Havells in the shop?

दुकान में बजाज की ट्यूब िाइट की िंख्या, दुकान में हैवेि के बल्बों िे सकतने प्रसतशत अस क है?

1.130%
2.120%
3.140%
4.150%
5.110%

Bulbs Tube lights

Syska 80 100

Philips 40 160

Bajaj 80 120

Havells 50 120



The number of 12th students passed from science department in central and south zones 

together is what percentage more/less than the total number of the 12th students passed 

in east zone?

1. 15% less
2. 20% more
3. 25% more
4. 15% more
5. NOT

Total = 5000 Science

East 20% 600

West 10% 250

Central 25% 700

North 30% 850

South 15% 550

मध्य और र्दखिण िेत्रों में वर्ज्ञाि वर्भाग से उत्तीणव 12 र्ीां के छात्रों की सांख्या पूर्ी िेत्र में उत्तीणव 12 र्ीां
के छात्रों की कुि सांख्या से ककतिे प्रनतशत अनिक/कम है?



Out of the total number of 12th students passed from commerce department in west and 

south zones, 5/6th of the students are girls and the remaining are boys, then find the 

number of 12th boys passed from commerce department in west and south zones?

1.90
2.75
3.100
4.106
5.NOT

Total = 5000 Science

East 20% 600

West 10% 250

Central 25% 700

North 30% 850

South 15% 550

पखिम और र्दखिण िेत्रों में र्ाखणज्य वर्भाग से उत्तीणव 12 र्ीां के छात्रों की कुि सांख्या में से, 5/6 छात्र 
िड़ककयाां हैं और शेष िड़के हैं, तो पखिम और र्दखिण िेत्रों में र्ाखणज्य वर्भाग से उत्तीणव 12 र्ीां िड़कों 
की सांख्या ज्ञात कीखिये।



Find the difference between the total number of 12th students passed from science 

department in east and west zones together and the number of 12th students passed from 

commerce department in central zone?

1.295
2.300
3.305
4.350
5.NOT

Total = 5000 Science

East 20% 600

West 10% 250

Central 25% 700

North 30% 850

South 15% 550

पूर्व और पखिम िेत्रों में वर्ज्ञाि वर्भाग से उत्तीणव 12 र्ीां के छात्रों की कुि सांख्या और मध्य िेत्र में 
र्ाखणज्य वर्भाग से उत्तीणव 12 र्ीां के छात्रों की सांख्या के बीच का अांतर ज्ञात कीखिये?



If the number of 12th students passed from commerce and art department in north zone 

is three times the number of 12th students passed from science department in north 

zones, then the number of 12th students passed from art department from north zone is 

what percentage of the total number of 12th students passed in north zone?

1.42.15%
2.24.90%
3.55.88%
4.15%
5.123%

Total = 5000 Science

East 20% 600

West 10% 250

Central 25% 700

North 30% 850

South 15% 550

यकर्द उत्तरी िेत्र में र्ाखणज्य और किा वर्भाग से उत्तीणव 12 र्ीां के छात्रों की सांख्या उत्तरी िेत्रों में वर्ज्ञाि 
वर्भाग से उत्तीणव 12 र्ीां के छात्रों की सांख्या का तीि गुिा है, तो उत्तरी िेत्र से किा वर्भाग से उत्तीणव 12 
र्ीां के छात्रों की सांख्या उत्तरी िेत्र में उत्तीणव 12 र्ीां के छात्रों की कुि सांख्या का ककतिा प्रनतशत है?



Find the ratio of the total number of 12th students passed in west zone and the average 

number of 12th students passed from commerce department in east and west zones?

1.20 : 13
2.13 : 20
3.11 : 15
4.3 : 5
5.NOT

Total = 5000 Science

East 20% 600

West 10% 250

Central 25% 700

North 30% 850

South 15% 550

पखिम िेत्र में उत्तीणव 12 र्ीां के छात्रों की कुि सांख्या और पूर्व और पखिम िेत्रों में र्ाखणज्य वर्भाग से 
उत्तीणव 12 र्ीां के छात्रों की औसत सांख्या का अिुपात ज्ञात कीखिये?



A dealer marks an article 50% above the cost price and sells it to a customer allowing two 

successive discounts of 20% and 15% on the marked price. if he gains Rs. 400 on the deal 

then the cost price of the article is? 

एक डीिर एक वस्तु को क्रय मूल्य िे 50% अस क अंसकत करता है और अंसकत मूल्य पर 20% और 15% की दो 

क्रसमक छूट देते ह ए इिे एक ग्राहक को बेचता है. यसद उिे िौदे पर 400 रुपये का िाभ होता है तो वस्तु का क्रय मूल्य

याया है?

1.Rs. 25,000
2.Rs. 30,000
3.Rs. 20,000
4.Rs. 15,000
5.NOT



A container contains 63 litres of mixture of milk and water. The respective ratio of 

milk and water is 5 : 4. From the container 18 litres of mixture was extracted and 5 

litres of pure milk was added. What is the percentage of water?

एक कंटेनर में दू  और पानी का 63 िीटर समश्रण है. दू  और पानी का िंबंस त अनुपात 5: 4 है। कंटेनर िे 18 िीटर 

समश्रण सनकािा गया और 5 िीटर शुि दू  समिाया गया। पानी का प्रसतशत याया है?

1.20%
2.30%
3.40%
4.60%
5.24%



The ratio of the ages of K and A is 1 : 4 and the ratio of the ages of A and B is 9 : 1. 

If B is 5 years younger than K. What will be the age of A after 6 years?

K और A की मयु का अनुपात 1 : 4 है और A और B की मयु का अनुपात 9 : 1 है। यसद B, K िे 5 वर्ष 

छोटा है। 6 वर्ष के बाद A की मयु याया होगी?

1.36 years
2.38 years
3.42 years
4.40 years
5.44 years



3x2 - 14x - 5 = 0

y2 - 17y + 52 = 0 1.x > y
2.x ≥ y
3.x < y
4.x ≤ y
5.CND or

x = y



12x2 + 27x + 15 = 0

2y2 – 13y + 20 = 0 1.x > y
2.x ≥ y
3.x < y
4.x ≤ y
5.CND or

x = y



5x2 + 32x – 21 = 0

2y2 + 11y – 6 = 0 1.x > y
2.x ≥ y
3.x < y
4.x ≤ y
5.CND or

x = y



x2 + 9x – 90 = 0

y2 + 11y – 60 = 0 1.x > y
2.x ≥ y
3.x < y
4.x ≤ y
5.CND or

x = y



1.a



1.a



1.a



1.a



1.a



1.a



1.a


